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e INFRICE T MR R ERR

FRTEHh - $2 & 3-28

SHIEE
B A - X3 I 5 AEE(XATAYZANEBE) | g e
5cm 50¢cm 100cm
gt ER (1) 0.04 0.04 — PA-1000
Q1B IHFT1 0.05 0.06 — PA-1000
QR ErBD 0.05 0.05 — PA-1000
@ ERED 0.04 0.05 — PA-1000
- OREILRE 0.07 0.07 — PA-1000
V2O S e ammma 0.05 0.08 — PA-1000
DIBERIZEFT2 0.05 0.06 — PA-1000
@R IZEFT3 0.05 0.06 — PA-1000
OfEL 0.06 0.08 — PA-1000
ibis 0.06 0.07 — PA-1000
O L ER (1) 0.05 0.04 — PA-1000
QIR IZFT 1 0.05 0.04 — PA-1000
QR ERBH 0.04 0.04 — PA-1000
@R ERED 0.08 0.07 — PA-1000
" OREILFTEE 0.05 0.06 — PA-1000
7/2BOK) B @ERIBFT4 0.07 0.06 — PA-1000
DIBEERIZFT2 0.05 0.05 — PA-1000
@®EERIZEFT3 0.05 0.05 — PA-1000
OfliE L 0.08 0.07 — PA-1000
15 0.06 0.06 — PA-1000
2/26 (#2)



e INFRICE T MR R ERR

FRTEHh - $2 & 3-28

S22 E
B A - X3 I 5 AEE(XATAYZANEBE) | g e
5cm 50¢cm 100cm
gt ER (1) 0.04 0.05 — PA-1000
Q1B IHFT1 0.05 0.05 — PA-1000
QR ErBD 0.03 0.04 — PA-1000
@ ERED 0.06 0.06 — PA-1000
- OREILRE 0.05 0.05 — PA-1000
IO S emmma 0.05 0.06 — PA-1000
DIBERIZEFT2 0.05 0.06 — PA-1000
@R IZEFT3 0.05 0.07 — PA-1000
OfEL 0.08 0.08 — PA-1000
ibis 0.06 0.07 — PA-1000
O L ER (1) 0.03 0.04 — PA-1000
QIR IZFT 1 0.05 0.06 — PA-1000
QR ERBH 0.04 0.04 — PA-1000
@ FERED 0.07 0.09 — PA-1000
" OREILFTEE 0.06 0.06 — PA-1000
V21N @EBKIH4 0.06 0.07 — PA-1000
DB G2 0.01 0.07 — PA-1000
@®EERIZEFT3 0.06 0.06 — PA-1000
OfliE L 0.07 0.08 — PA-1000
15 0.05 0.06 — PA-1000
3/26 (#2)



e INFRICE T MR R ERR

FRTEHh - $2 & 3-28

31 E B
B A - X3 I 5 AEE(XATAYZANEBE) | g e
5cm 50¢cm 100cm
gt ER (1) 0.05 0.05 — PA-1000
Q1B IHFT1 0.07 0.00 — PA-1000
QR ErBD 0.05 0.05 — PA-1000
@ ERED 0.08 0.08 — PA-1000
10/7(H) Y @*iiﬁdtji‘&ﬂ 0.05 0.05 — PA-1000
©ERIZFT4 0.08 0.08 — PA-1000
DIBERIZEFT2 0.06 0.06 — PA-1000
@R IZEFT3 0.05 0.07 — PA-1000
OfEL 0.06 0.08 — PA-1000
ibis 0.05 0.08 — PA-1000
O L ER (1) 0.03 0.04 — PA-1000
QIR IZFT 1 0.08 0.08 — PA-1000
QR ERBH 0.06 0.07 — PA-1000
@ FERED 0.06 0.06 — PA-1000
" OREILFTEE 0.05 0.06 — PA-1000
V19 (@ in @ERIBFT4 0.06 0.08 — PA-1000
DIBEERIZFT2 0.07 0.08 — PA-1000
@®EERIZEFT3 0.06 0.07 — PA-1000
OfliE L 0.07 0.09 — PA-1000
bi5 0.06 0.06 — PA-1000
4/26 (#2)



e INFRICE T MR R ERR

FRTEHh - $2 & 3-28

5 A 304E BE
B A - X3 I 5 AEE(XATAYZANEBE) | g e
5cm 50¢cm 100cm

gt ER (1) 0.04 0.05 — PA-1000
Q1B IHFT1 0.06 0.08 — PA-1000
QR ErBD 0.04 0.04 — PA-1000
@ ERED 0.10 0.11 — PA-1000

10/5(%) 2 @*iiﬁdtji‘&ﬂ 0.05 0.06 — PA-1000
©ERIZFT4 0.07 0.08 — PA-1000
DIBERIZEFT2 0.05 0.07 — PA-1000
@R IZEFT3 0.06 0.07 — PA-1000
OfEL 0.08 0.09 — PA-1000
ibis 0.08 0.09 — PA-1000
O L ER (1) 0.05 0.05 — PA-1000
QIR IZFT 1 0.07 0.08 — PA-1000
QR ERBH 0.07 0.07 — PA-1000
@ FERED 0.08 0.09 — PA-1000

4/12(K) BY @*ﬁ[ﬁjtji%ri 0.08 0.08 — PA-1000
GERIEF4 0.09 0.08 — PA-1000
DB G2 0.06 0.07 — PA-1000
@®EERIZEFT3 0.06 0.07 — PA-1000
OfliE L 0.08 0.09 — PA-1000
bi5 0.07 0.07 — PA-1000
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e INFRICE T MR R ERR

FRTEHh - $2 & 3-28

5 294 BE
B A - X3 I 5 AEE(XATAYZANEBE) | g e
5cm 50¢cm 100cm
gt ER (1) 0.03 0.04 — PA-1000
Q1B IHFT1 0.06 0.06 — PA-1000
QR ErBD 0.04 0.05 — PA-1000
@ ERED 0.10 0.10 — PA-1000
10/6(%) 2 @*iiﬁdtji‘&ﬂ 0.07 0.07 — PA-1000
©ERIZFT4 0.06 0.07 — PA-1000
DIBERIZEFT2 0.06 0.07 — PA-1000
@R IZEFT3 0.06 0.06 — PA-1000
OfEL 0.09 0.09 — PA-1000
ibis 0.05 0.06 — PA-1000
O L ER (1) 0.04 0.04 — PA-1000
QIR IZFT 1 0.06 0.07 — PA-1000
QR ERBH 0.04 0.05 — PA-1000
@R ERED 0.06 0.07 — PA-1000
" OREILFTEE 0.05 0.06 — PA-1000
19T @EBKIH4 0.07 0.07 — PA-1000
DIBEERIZFT2 0.07 0.08 — PA-1000
@BEKIHA3 0.07 0.07 — PA-1000
OfEL 0.10 0.11 — PA-1000
bi5 0.12 0.12 — PA-1000
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e INFRICE T MR R ERR

FRTEHh - $2 & 3-28

T 28 £F
B A - X3 I 5 AEE(XATAYZANEBE) | g e
5cm 50¢cm 100cm
gt ER (1) 0.06 0.06 — PA-1000
Q1B IHFT1 0.11 0.10 — PA-1000
QR ErBD 0.08 0.08 — PA-1000
@ ERED 0.11 0.11 — PA-1000
- OREILRE 0.11 0.06 — PA-1000
WIS mmma 0.08 0.08 — PA-1000
DIBERIZEFT2 0.06 0.08 — PA-1000
@R IZEFT3 0.06 0.06 — PA-1000
OfEL 0.10 0.12 — PA-1000 ER28FE10ABIE M SIEN
ibis 0.07 0.08 — PA-1000
O L ER (1) 0.04 0.04 — PA-1000
QIR IZFT 1 0.08 0.09 — PA-1000
QR ERBH 0.04 0.05 — PA-1000
@ FERED 0.08 0.09 — PA-1000
4/22(£)EN  |OKREIEHEE 0.06 0.09 — PA-1000
@EBKIH4 0.99 0.11 — PA-1000
DIBEERIZFT2 0.05 0.06 — PA-1000
@BEKIHA3 0.07 0.07 — PA-1000
b5 0.06 0.08 — PA-1000
7/26 (#2)



e INFRICE T MR R ERR

FRTEHh - $2 & 3-28

k274
B A - X3 I 5 AEE(XATAYZANEBE) | g e
5cm 50¢cm 100cm

gt ER (1) 0.04 0.05 — PA-1000
Q1B IHFT1 0.09 0.10 — PA-1000
QR ErBD 0.09 0.09 — PA-1000
@ ERED 0.16 0.16 — PA-1000

10/70K) BN |OREILEED 0.07 0.08 — PA-1000
©ERIZFT4 0.10 0.12 — PA-1000
DIBERIZEFT2 0.08 0.10 — PA-1000
@R IZEFT3 0.07 0.08 — PA-1000
ibis 0.09 0.10 — PA-1000
O L ER (1) 0.05 0.05 — PA-1000
QIR IZFT 1 0.09 0.10 — PA-1000
QX ERBH 0.10 0.10 — PA-1000
@ ERED 0.13 0.14 — PA-1000

4/21(A)EN  |OKREIEREE 0.14 0.13 — PA-1000
@EBKIH4 0.12 0.12 — PA-1000
DIBEERIZFT2 0.08 0.09 — PA-1000
@EERIZFT3 0.08 0.09 — PA-1000
Ok 0.09 0.09 — PA-1000
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e INFRICE T MR R ERR

FRTEHh - $2 & 3-28

5 26 4 B _

) . 3 T—R 3

AEE X AEHA AEBATOT BT g e
Db DL ER (1) 0.05 0.05 — PA-1000
QIR RI5 T 1 0.09 0.11 — PA-1000
QR EmEH 0.09 0.11 — PA-1000
DRERED 0.13 0.15 — PA-1000

179(&) BN |OREILEE 0.10 0.14 — PA-1000
®ERI5F4 0.12 0.13 — PA-1000
DIRERIGFR2 0.08 0.09 — PA-1000
@R ERI5F3 0.08 0.09 — PA-1000
b5 0.07 0.09 — PA-1000
DEgih L ER (1) 0.06 0.07 — PA-1000
Q1B EHIGFT 1 0.11 0.13 — PA-1000
QR EmSH 0.11 0.12 — PA-1000
DREREH 0.07 0.10 — PA-1000

10/8 (K EN |OKREILEE 0.11 0.14 — PA-1000
O ERIGAT4 0.11 0.13 — PA-1000
DIEERIGFR2 0.07 0.09 — PA-1000
@RISR 3 0.06 0.07 — PA-1000
fibi5 0.06 0.06 — PA-1000
DL ER (1) 0.05 0.05 — PA-1000
QB RIS 1 0.07 0.10 — PA-1000
QR EmSH 0.08 0.11 — PA-1000
OFEES 0.13 0.18 — PA-1000

778N  |OREILEE 0.09 0.12 — PA-1000
O ERIGAT4 0.11 0.14 — PA-1000
DIEERIGFR2 0.07 0.09 — PA-1000
@RISR 3 0.07 0.09 — PA-1000
15 0.08 0.08 — PA-1000
DL ER (1) 0.06 0.06 — PA-1000
(QIBERIZAT 1 0.11 0.11 — PA-1000
QX BErRE SR 0.12 0.12 — PA-1000
DR BERER 0.16 0.18 — PA-1000

4/ (R)BEN  |OREILEER 0.15 0.14 — PA-1000
O ERIGAT4 0.10 0.10 — PA-1000
DIEERIGFR2 0.09 0.10 — PA-1000
®1B:% 53 0.09 0.11 — PA-1000
fibi5 0.09 0.10 — PA-1000

11/26 (#2)



BB INERIZH T DTSR

FRTEHh - $2 & 3-28

=RERBR

FRi254E B
A - X AEA AERREATRZZNER | s %
5cm 50¢cm 100c¢m
Ot ER (1) 0. 05 0. 05 — PA-1000
Q1B IHFT1 0. 07 0. 09 — PA-1000
QR ErBD 0. 11 0. 11 — PA-1000
@ ERED 0.10 0.10 — PA-1000
3/ 4(R) OREILEEL 0.14 0.13 — PA-1000
i g0 =
©ERIZFT4 0.12 0.14 — PA-1000
DIBERIZEFT2 0. 09 0. 09 — PA-1000
@R IZFT3 0. 09 0.10 — PA-1000
ibi5 0. 07 0. 08 — PA-1000
Ot L ER (1) 0. 05 0. 07 — PA-1000
QIR IZAT1 0.10 0.12 — PA-1000
QR ERBD 0.10 0. 11 — PA-1000
@R ERED 0.12 0.12 — PA-1000
2-3(H) OREILEL 0.15 0.14 — PA-1000
BEh = a
@ERIBFT4 0.13 0.14 — PA-1000
DIBEERIZFT2 0. 09 0.10 — PA-1000
@IBEKIHA3 0. 07 0. 07 — PA-1000
ibi5 0. 10 0. 11 — PA-1000
Ot ER (1) 0. 06 0. 07 — PA-1000
QIR IZFT 1 0.10 0.10 — PA-1000
QK ERED 0.10 0. 11 — PA-1000
FEfoegE | DRERDD 0.19 0.18 — PA-1000
1.8 (K) OB EILERED 0.15 0.14 — PA-1000
AT CEBKIG4 0.14 0.14 — PA-1000
DB 2 0. 09 0. 11 — PA-1000
@®EERIZFT3 0. 09 0.10 — PA-1000
15 0. 08 0. 10 — PA-1000
12/26 (#2)



BB INERIZH T DTSR

FRTEHh - $2 & 3-28

=RERBR

FRi254E B — :
A - X AEA AERREATRZZNER | s %
5cm 50cm 100cm
gt ER (1) 0. 05 0. 06 — PA-1000
QIEERIZFT1 0. 09 0.10 — PA-1000
QR ERED 0.10 0.10 — PA-1000
12.40K) gﬁfiﬁﬂﬁ 0. 21 0. 20 — PA:1000
B R REAL BER 0. 10 0.13 — PA-1000
CEKIHM4 0.12 0.14 — PA-1000
DB G2 0.10 0.10 — PA-1000
@IBEKIHA3 0. 09 0. 11 — PA-1000
15 0. 08 0. 09 — PA-1000
Ot ER (1) 0. 06 0. 07 — PA-1000
QIBEXIHAT 1 0. 08 0.10 — PA-1000
QR ERED 0.13 0.13 — PA-1000
@R ERED 0. 20 0.19 — PA-1000
11-60K) OREILTE 0.14 0.15 — PA-1000
B4l = a
CEBKIH4 0.14 0.16 — PA-1000
DB G2 0.10 0. 11 — PA-1000
@IBEKIHA3 0.10 0. 11 — PA-1000
15 0. 09 0.10 — PA-1000
Ot ER (1) 0. 06 0. 06 — PA-1000
QIBERIHAT 1 0.10 0. 11 — PA-1000
QR BERED 0.10 0.10 — PA-1000
DRBERED 0. 07 0.10 — PA-1000
10/%,5}51) OREILEE 0.13 0.14 — PA-1000
i CEHRIZAT4 0.14 0.12 — PA-1000
DB 2 0. 08 0.10 — PA-1000
@IBEXIHAT3 0. 09 0. 09 — PA-1000
15 0. 07 0. 08 — PA-1000
13/26 (#%22)



BB INERIZH T DTSR

FRTEHh - $2 & 3-28

=RERBR

5 25 BE
A - X AEA AERREATRZZNER | s %
5cm 50¢cm 100c¢m
gt ER (1) 0. 07 0. 06 — PA-1000
Q1B IHFT1 0. 09 0.12 — PA-1000
QR ErBD 0.10 0.10 — PA-1000
@ BERER 0. 11 0.12 — PA-1000
9./4(5K) " "
21 G EEILFHAR 0. 20 0.18 — PA-1000
©ERIZFT4 0. 09 0.12 — PA-1000
DIBERIZEFT2 0.10 0.10 — PA-1000
@R IZFT3 0. 07 0. 08 — PA-1000
ibi5 0. 08 0. 09 — PA-1000
Ot L ER (1) 0.08 0. 07 — PA-1000
QIR IZAT1 0. 08 0.10 — PA-1000
QR ERBD 0.13 0.12 — PA-1000
@R ERED 0.18 0.18 — PA-1000
8-5(H) OREILEL 0.18 0.17 — PA-1000
BEh = a
@ERIBFT4 0. 11 0.13 — PA-1000
DIBEERIZFT2 0.10 0.12 — PA-1000
@EERIZFT3 0. 08 0.10 — PA-1000
ibi5 0. 08 0.10 — PA-1000
Ot ER (1) 0. 07 0. 07 — PA-1000
QIR IZFT 1 0. 09 0.10 — PA-1000
QK ERED 0.12 0. 11 — PA-1000
@R ERED 0.15 0.18 — PA-1000
77 2(R) OREILTED 0.17 0.15 — PA-1000
BN = a
CEBKIG4 0.14 0.14 — PA-1000
DIEERIZFT2 0. 11 0.13 — PA-1000
@IBEXIHAT3 0. 08 0. 11 — PA-1000
15 0. 08 0. 10 — PA-1000
14/26 (#2)



BB INERIZH T DTSR

FRTEHh - $2 & 3-28

=RERBR

FRi254E B ‘
AER X A AERATE VBT | g s
5cm 50cm 100cm
gt ER (1) 0. 07 0. 06 — PA-1000
QIEERIZFT1 0. 09 0. 11 — PA-1000
QR ERED 0. 11 0. 11 — PA-1000
@R ERED 0.14 0.18 — PA-1000
G/HEXK) ORBEILTED 0.14 0.15 — PA-1000
- ©ERIZFT4 0.15 0.16 — PA-1000
DB G2 0. 09 0.12 — PA-1000
@IBEKIHA3 0. 09 0.12 — PA-1000
15 0. 09 0. 11 — PA-1000
Ot ER (1) 0. 07 0. 07 — PA-1000
QIBEXIHAT 1 0.10 0.10 — PA-1000
QR ERED 0. 11 0.12 — PA-1000
@R ERED 0.17 0. 20 — PA-1000
S/EL?E*) OB EILERED 0.14 0.16 — PA-1000
i CEBKIH4 0.17 0.17 — PA-1000
DB G2 0.10 0.10 — PA-1000
@IBEKIHA3 0. 09 0.10 — PA-1000
15 0. 08 0.10 — PA-1000
Ot ER (1) 0. 08 0. 07 — PA-1000
QIBERIHAT 1 0. 11 0.13 — PA-1000
QR BERED 0.14 0.13 — PA-1000
DRBERED 0.15 0.16 — PA-1000
4/1;3(5*) OREILEE 0. 22 0.18 — PA-1000
i CEHRIZAT4 0.13 0.12 — PA-1000
DIBERIHAT2 0. 11 0.12 — PA-1000
@IBEXIHAT3 0. 11 0. 11 — PA-1000
15 0. 08 0.10 — PA-1000
15/26 (#%22)
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EEDNERICEITAMHNR=EAERTR
FR7EHh : #53-28
F 244 =
= - g = AIEIE (X470 —N)LER) -
/ﬂ“ﬂiE 961'; /,E\I]IEi‘m,ﬁ“ 5cm 50¢m 100¢m /ﬂ“l‘E%g 1%%
1F&=E(BA) — 0. 07 0. 07 PA-1000
= 2FE=E(ER) — 0. 07 0. 06 PA-1000
3/14(K) £Y IFHE (BA) — 0. 08 0. 08 PA-1000
AEEERN) — 0. 05 0. 05 PA-1000
Ot E (1) 0.10 0. 08 — PA-1000
QFbi5 0. 09 0.10 — PA-1000
=2, |DKRERSE 0.12 0.183 — PA-1000
3/4(A) &Y OIS 0. 14 0.18 — PA-1000
O EILEL 0.17 0.18 — PA-1000
O BEFE SR 0. 15 0. 14 — PA-1000
IFS=EEBRN) — 0. 07 0. 08 PA-1000
QFE=E(BA) — 0. 08 0. 08 PA-1000
276(K) W IFHE (BA) — 0. 09 0. 08 PA-1000
AEEERN) — 0. 05 0. 06 PA-1000
Ot b E (1) 0. 08 0. 09 — PA-1000
Qb5 0. 09 0. 11 — PA-1000
=+, |ORERS 0.10 0.12 — PA-1000
274(R) BN I 0.12 0. 14 — PA-1000
GOREILFED 0. 16 0.17 — PA-1000
O EFEE 0. 15 0. 15 — PA-1000
IFSE(BA) — 0. 08 0. 07 PA-1000
<. [2F%=(BW) — 0. 07 0. 08 PA-1000
1/17(R) EEh SFH=E(BN) — 0. 09 0. 08 PA-1000
HREEERN) — 0. 05 0. 06 PA-1000
Dgsh L ER (1) 0. 09 0. 09 — PA-1000
Qb5 0. 09 0.10 — PA-1000
ER255%F QK ERTER 0.10 0. 14 — PA-1000
1.78(K) N |@OBERL 0. 11 0.12 — PA-1000
GREILTER 0. 14 0. 15 — PA-1000
O BEFEER 0.17 0.17 — PA-1000
18/26 (#2)



BEINERIZEITOAMIIRERERR
FriEHh : #4H83-28
F R4 =
N —_— AEE (X478 —~N )L EE) ]
p: . ; =1 ATE
2l 5E B - X% Bl 7E th = SO 00T Bl E 25 wE
1IFE=E(BA) — 0. 07 0. 07 PA-1000
=1 |2FEZE (BA) — 0. 07 0. 07 PA-1000
127120K) BN FHE (BA) — 0. 08 0. 08 PA-1000
AEEERN) — 0. 05 0. 06 PA-1000
Dt chDER (L) 0. 09 0. 10 — PA-1000
Q15 0. 10 0. 11 — PA-1000
= |ORERER 0. 10 0.12 — PA-1000
%G =l
1274(K) &Y O EER 0.18 0.18 — PA-1000
GBI FTER 0.14 0.17 — PA-1000
O EMER 0.16 0.15 — PA-1000
Dgih DL ER (1) 0. 09 0. 09 — PA-1000
Qs 0. 10 0. 11 — PA-1000
=+, |OREEREED 0.12 0. 15 — PA-1000
/70K En @R BE R 0.16 0. 20 — PA-1000
OREILTED 0.12 0. 16 — PA-1000
O EMER 0.13 0.15 — PA-1000
1FHE(ERN) — 0. 07 0. 06 PA-1000
Ly = 12F&E(BR) — 0. 07 0. 07 PA-1000
11760 SFH=E (BMN) — 0. 07 0. 08 PA-1000
HREEERN) — 0. 06 0. 06 PA-1000
1FERT (BA) — 0. 08 0. 07 PA-1000
«. [2F%=(BW) — 0. 08 0. 08 PA-1000
10/12(%) B SFH=E (BMN) — 0. 08 0. 07 PA-1000
AREEERN) — 0. 05 0. 05 PA-1000

19/26
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BEINERIZEITOAMIIRERERR
FRTEHD : #253-28
R 24 4 BE
e e BAIEE (XA —XN)LNER) .
Al KA SR 5E Hh g AlE
2l 5E B - X% Bl 7E th — — o Bl E 25 "E
Ot rhInER () 0. 09 0. 10 — PA-1000
Q15 0. 09 0.12 — PA-1000
= |ORERER 0.16 0.16 — PA-1000
10720:k) =L n
X / @R RERER 0. 20 0.19 — PA-1000
OREILTER 0. 22 0. 20 — PA-1000
O RETEER 0.18 0.17 — PA-1000
1FEE(BN) — 0. 07 0. 07 PA-1000
QFHE(BMA) — 0. 06 0. 08 PA-1000
9./13 i
A13(K) HEn IFHE(BR) — 0. 07 0. 08 PA-1000
ABEEN) — 0. 05 0. 05 PA-1000
Ot chHER (1) 0. 08 0. 09 — PA-1000
Qb5 0.10 0.12 — PA-1000
QR EREER 0. 15 0.13 — PA-1000
9./4(:K) BE -
SR Ty 0 32 0. 33 — PA-1000
G EILEREER 0. 22 0. 20 — PA-1000
O RETEER 0. 20 0.16 — PA-1000
1F&=E(BR) — 0. 07 0. 07 PA-1000
QFHE (BR) — 0. 07 0. 08 PA-1000
8.6 58
B R g ER) - 006 | 008 | PAio0
ABEEN) — 0. 05 0. 06 PA-1000
Dt ehHER (1) 0. 08 0. 09 — PA-1000
Qw15 0. 11 0.14 — PA-1000
QR ERER 0.15 0. 16 — PA-1000
8.2 iF3
(R) B0 @R ERER 0. 22 0. 26 — PA-1000
ORI TED 0.19 0.19 — PA-1000
O FETER 0. 14 0.15 — PA-1000
20/26 (¥2)



e INARISHE T HOMST R ERIERR

AR : & 3-28

R 244EE
E— . BIEE (w470 —N)LRER) .
/ﬂ“ﬂiE 961'; /,E\I]IEi‘m,ﬁ“ Sem 50cm 100¢m /ﬂ“l‘E%g 1%%
1FEZE (BN) — 0. 07 0. 09 PA-1000
QFHE(EN) — 0. 07 0. 07 PA-1000
FHE (BA) — 0. 08 0. 08 PA-1000
AEE(ERN) — 0. 06 0. 05 PA-1000
LY nee | OBHEELER (1) 0. 11 0. 10 — PA-1000
773K B e 0. 11 0. 13 — PA-1000
QX FErIBD 0.14 0. 14 — PA-1000
@R ERED 0.27 0. 23 — PA-1000
OEILHEED 0. 22 0. 21 — PA-1000
O ETEED 0.13 0. 15 — PA-1000
IFR=E(BA) — 0. 08 0. 08 PA-1000
oy = |2FEREERN) — 0. 07 0. 07 PA-1000
6/120k) FHE (BA) — 0. 06 0. 09 PA-1000
AKEE(ERN) — 0. 06 0. 06 PA-1000
Ot b ER (1) 0.11 0.12 — PA-1000
Qb5 0. 11 0.14 — PA-1000
<, |OKRERE 0. 21 0. 21 — PA-1000
6/8(s) Wh O LS 0. 37 0. 34 — PA-1000
OREILEL 0. 24 0. 21 — PA-1000
@ ETEED 0. 23 0. 23 — PA-1000
1IFE=E(BA) — 0. 07 0. 07 PA-1000
= |2FEEER) — 0. 08 0. 08 PA-1000
5790K) &Y SFRE(BN) — 0. 09 0. 09 PA-1000
AKEE(EN) — 0. 06 0. 05 PA-1000
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BEINERIZEITOAMIIRERERR
FRTEHD : #253-28
JRE 23~ 244F
gy = g = AENE (70> —~)LHEE) !
pizl = SBTE Hh 5 BIE
2l 5E B - X% Bl 7E th — — o Bl E 25 "E
Ot rhInER () 0.13 0.13 — PA-1000
Q15 0. 10 0.14 — PA-1000
QR ERER 0. 23 0. 21 — PA-1000
5/8(K) B
78 BN o ERE 0. 37 0. 33 — PA-1000
OREILTER 0. 22 0. 22 — PA-1000
O RETEER 0.19 0.17 — PA-1000
1FEE(BN) — 0. 07 0. 07 PA-1000
- QFHE(BMA) — 0. 08 0. 09 PA-1000
4,°20(%) 2L
() 2Y IFHE(BA) — 0.08 0. 08 PA-1000
ABEEN) — 0. 06 0. 06 PA-1000
Ot chHER (1) 0.12 0.13 — PA-1000
Qb5 0.12 0.16 — PA-1000
QR EREER 0.17 0.18 — PA-1000
4,712 &
SO e 0. 39 0. 39 — PA-1000
G EILEREER 0. 25 0. 23 — PA-1000
O RETEER 0. 25 0. 21 — PA-1000
1FEO(BRN) — 0.10 0. 09 PA-1000
QFHE (BR) — 0. 09 0. 09 PA-1000
319 i3
Z19(R) B IFHE(BR) — 0. 08 0.10 PA-1000
ABEEN) — 0. 06 0. 06 PA-1000
Dt ehHER (1) 0.13 0. 14 — PA-1000
@miE(E=—)L>—k L) 0.13 0.17 — PA-1000 2B278BIZHOABZELEL-,
= |OKBERIR 0. 26 0. 25 — PA-1000
37 =l
710K) &Y @R ERER 0. 40 0. 44 — PA-1000
ORI TED 0. 30 0. 30 — PA-1000
O FETER 0. 22 0. 22 — PA-1000
22/26 (¥2)
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1FEE(BN) — 0. 07 0. 07 PA-1000
- QFHE(EBMA) — 0. 07 0. 08 PA-1000
2./13 £l
/13(R) &Y IFHE(EBA) — 0. 08 0. 09 PA-1000
ABEEN) — 0. 06 0. 06 PA-1000
Dhsh i ER (1) — 0. 16 0.17 PA-1000
Q15 0. 36 0. 37 — PA-1000
QR ERER — 0. 22 — PA-1000
2/3(%) BB
73(E) @R ERER — 0. 28 — PA-1000
GO EILEREER — 0. 29 — PA-1000
O RETEER — 0. 24 — PA-1000
1FEZE (BA) — 0.08 0. 08 PA-1000
QFHE(BMA) — 0. 07 0. 07 PA-1000
1./18 i3
A/180K) B IFHE(BR) — 0. 09 0. 08 PA-1000
ABEEN) — 0. 07 0. 08 PA-1000
Ot chHER (1) — 0.17 0.17 PA-1000
Qb5 0. 33 0. 37 — PA-1000
SERk244F QR ERER — 0. 30 — PA-1000
1.7110K) £Y |@xpE=Lp — 0. 45 — PA-1000
OREILFER — 0. 30 — PA-1000
O RETEER — 0. 20 — PA-1000
1F&=E(BA) — 0. 09 — PA-1000
= |2F&ZE(BN) — 0. 08 — PA-1000
12714 £l
710K BY B B — 0. 09 — PA=1000
ABEEN) — 0. 09 — PA-1000
23/26 (¥2)
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b ER (1) — 0.18 0.18 PA-1000
b5 0. 33 — — PA-1000
1217 i3
R rr e — 0. 38 — PA-1000
ECUEALE — 0. 35 — PA-1000
IFEE=E(BN) — 0. 08 — PA-1000
2FEZBMIZE(EBRN) — 0. 09 — PA-1000
11/18()
/18(&) BN 3F6-2% = (BM) — 0. 09 — PA-1000
ABEEN) — 0. 07 — PA-1000
AELEFE AR — 0. 24 — PA-1000
1117 i3
BN wm — 0. 34 — PA-1000
= |ButenER (L) — 0. 22 0. 21 PA-1000
11.78(K) =\
78(%) &Y b5 0. 33 — — PA-1000
10/26(K) &R %&i’gqﬂruﬁﬂ(i) — 0.19 0.18 PA-1000
b5 0. 45 — — PA-1000
1FEZE (BA) — 0.08 — PA-1000
QFHE(BMA) — 0. 08 — PA-1000
FHE(BA) — 0. 08 — PA-1000
ABEERN) — 0. 07 — PA-1000
10.720(K) =Y [&EWL — 0. 28 — PA-1000
RERAIE — 0. 45 — PA-1000
BHih — 0. 34 — PA-1000
REILEAE — 0. 35 — PA-1000
EFEAE — 0. 36 — PA-1000
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= |ButdER (L) — 0. 20 0.19 PA-1000
10719 =l
() ! b5 0. 31 — — PA-1000
&R () — 0. 25 0. 22 PA-1000
10712 B
i 0. 31 — — PA-1000
=, |BthebER (L) — 0. 25 0. 24 PA-1000
1075 =
(2 / b5 0. 37 — — PA-1000
&R () — 0. 24 0. 23 PA-1000
9,28 &
I 0. 29 — — PA-1000
= |ButenE (L) — 0. 20 0. 20 PA-1000
9,722 £
() ) fibi5 0. 34 — — PA-1000
1FEZE (BA) — 0.08 — PA-1000
QFHE(BMA) — 0. 08 — PA-1000
IFHE(BA) — 0.08 — PA-1000
ABEEN) — 0. 07 — PA-1000
9.7200:k) =EY |&EWL — 0. 30 — PA-1000
REREAIE — 0. 37 — PA-1000
BHih — 0. 34 — PA-1000
REILEAE — 0. 45 — PA-1000
EFEAE — 0. 42 — PA-1000
b ER (L) — 0. 23 0. 20 PA-1000
9./14 =5
/140K) BER mis 0. 35 — — PA-1000
b ER (L) — 0. 21 0. 21 PA-1000
9,7 i3
/70K) B 15 0. 39 — — PA-1000
— — -
8.30(d) B %&i’fqﬂm B (L) 0.24 0. 23 PA-1000
b5 0. 44 — — PA-1000
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1FEE(BN) — 0. 08 — PA-1000
QFHE(EBMA) — 0. 07 — PA-1000
8.726(&) &
/26(8) BN IFHE(BR) — 0. 09 — PA-1000
ABEEN) — 0. 07 — PA-1000
&R () — 0. 23 0. 23 PA-1000
Hi
8/200K) BN s 0. 28 — — PA-1000
&R () — 0. 25 0. 24 PA-1000
817 =5
B e 0. 31 — — PA-1000
b ER (1) — 0. 25 0. 23 PA-1000
8./10 =5
e T 0. 26 — — PA-1000
8. 30k) BY %&i’gqﬂtuﬁﬂ(i) — 0. 25 0. 23 PA-1000
b5 0. 27 — — PA-1000
= |ButenER (L) — 0. 31 0. 29 PA-1000
7.7217 £l
/210K) &Y b5 0. 32 — — PA-1000
= |BtsbE (L) — 0. 25 0. 25 PA-1000
7721 £l
(F) / fibi5 0. 37 — — PA-1000
7/14(K) BEh |BuhdibER (L) — 0. 20 0. 26 RDS-30
17(K) Y Bt (L) — 0. 28 0. 26 RDS-30
6.30(K) BEn |BuhdiDbER(L) — 0. 34 0. 34 RDS-30
- Bt ER () — 0. 31 0. 31 RDS-30
2 =Ll
6-23(%) &Y b5 0. 39 — — RDS-30
TERR234 Bt ER () — 0. 36 0. 34 RDS-30
6.716(K) EY [mis 0. 40 — — RDS-30
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